

Weakly-Berwald spaces

By S. BÁCSÓ (Debrecen) and R. YOSHIKAWA (Gamou-gun Shiga)

Abstract. We have two notions of Landsberg spaces and Douglas spaces as generalizations of Berwald spaces. Z. SHEN introduced the notion of weakly affine spray ([12]), and in accordance this the first author gave the definition of a weakly-Berwald space ([4]) as another generalization of Berwald spaces. In this paper we will study the weakly-Berwald spaces.

In Sections 1 and 2, we shall summarize the properties of Landsberg spaces, Douglas spaces, projectively flat Finsler spaces and two-dimensional Finsler spaces respectively. In Section 3 we shall define weakly-Berwald spaces and investigate the three generalizations of Berwald spaces. Our main result is Corollary of Theorem 4. In Section 4, we shall show some examples of weakly-Berwald spaces. Especially, it is remarkable that the condition (4.6) for Randers spaces to be weakly-Berwald spaces is very simple.

1. Landsberg spaces, Douglas spaces and projectively flat Finsler spaces

Let M^n be an n -dimensional differential manifold and let $F^n = (M^n, L)$ be an n -dimensional Finsler space where L is a fundamental function. Let $g_{ij} = \dot{\partial}_i \dot{\partial}_j L^2 / 2$ be the fundamental tensor, where the symbol $\dot{\partial}_i$ means $\partial / \partial y^i$ and we define G_i as

$$G_i = \{y^r (\partial_r \dot{\partial}_i L^2) - \partial_i L^2\} / 4,$$

and $G^i = g^{ij} G_j$ where the symbol ∂_i means $\partial / \partial x^i$ and (g^{ij}) is the inverse matrix of (g_{ij}) . The coefficients (G_j^i, G^i_j) of the Berwald connection BF

Mathematics Subject Classification: 53B40.

Key words and phrases: Finsler spaces, Douglas spaces, projectively flat spaces, weakly-Berwald spaces, Randers spaces, Kropina spaces.

This work was supported by the grant number OTKA-32058.

are defined as $G^i_j = \dot{\partial}_j G^i$ and $G^i_k = \dot{\partial}_k G^i_j$. The h - and v -covariant derivations with respect to $B\Gamma$ are denoted by $(;)$ and $(\parallel)$ respectively.

The Ricci formulas which show the commutative law of covariant differentiation are written as follows:

$$(1.1) \quad \begin{cases} X^i_{;j;k} - X^i_{;k;j} = X^m H^i_{mjk} - X^i_{\parallel m} R^m_{jk}, \\ X^i_{;j\parallel k} - X^i_{\parallel k;j} = X^m G^i_{mjk}, \\ X^i_{\parallel j\parallel k} - X^i_{\parallel k\parallel j} = 0. \end{cases}$$

The $(h)v$ -torsion R^h_{jk} and the h - and hv -curvature tensors H^h_{ijk} are given by

$$(1.2) \quad \begin{cases} R^h_{jk} = A_{(jk)} \{ \partial_k G^h_j - G^h_r G^r_k \}, \\ H^h_{ijk} = R^h_{jk\parallel i}, \\ G^h_{ijk} = \dot{\partial}_i G^h_{jk}, \end{cases}$$

where $A_{(jk)}$ means the interchange of the indices j, k and subtraction. We introduce two tensors $H_{ij} = H^r_{ijr}$ and $G_{ij} = G^r_{ijr}$, which are called the h - and hv -Ricci tensor respectively.

The C -tensor C_{ijk} is defined by $C_{ijk} = (\dot{\partial}_k g_{ij})/2$. The symbol $(|)$ means the h -covariant derivation with respect to the Cartan connection. If a Finsler space satisfies the equations $C_{ijk|0} = C_{ijk|s} y^s = 0$, we call it Landsberg space. Using the second formula in (1.1), we get the equation $2C_{ijk|0} = -y_r G^r_{ijk}$. Therefore, Landsberg spaces are also characterized by the equations $y_r G^r_{ijk} = 0$.

Let us define a Douglas space. A Finsler space is said to be of Douglas type or a Douglas space, if $D^{ij} = G^i y^j - G^j y^i$ are homogeneous polynomials in (y^i) of degree three. The Douglas tensor is defined as follows ([5]):

$$(1.3) \quad D^h_{ijk} = G^h_{ijk} - [G_{ij\parallel k} y^h + \{G_{ij} \delta^h_k + (i, j, k)\}]/(n+1)$$

where (i, j, k) indicate the terms obtained from the preceding term by cyclic permutation of the indices i, j, k .

The first author and M. MATSUMOTO proved ([3]):

A Finsler space is a Douglas space if and only if the Douglas tensor vanishes identically.

We now define a projectively flat Finsler space.

We consider two Finsler spaces $F^n = (M^n, L)$ and $\bar{F}^n = (M^n, \bar{L})$ on a common underlying manifold M^n . If any geodesic on F^n is also a geodesic on $\bar{F}^n$, the change $L \rightarrow \bar{L}$ of the metric is said to be projective. It is well-known ([5]) that $L \rightarrow \bar{L}$ is a projective change if and only if there exists a $(1)p$ -homogeneous Finsler scalar field $P(x, y)$ on M^n satisfying

$$\bar{G}^i(x, y) = G^i(x, y) + P(x, y)y^i.$$

The scalar field P is called the projective factor.

If there exists a projective change of a Finsler space $F^n = (M^n, L)$ to $\bar{F}^n = (M^n, \bar{L})$ such that the Finsler space $\bar{F}^n$ is a locally Minkowski space, F^n is called projectively flat.

The Weyl tensor is given by

$$W^h{}_{ij} = R^h{}_{ij} + A_{(ij)}\{y^h H_{ij} + \delta^h{}_i H_j\}/(n+1)$$

where $H_i = (nH_{0i} + H_{i0})/(n-1)$. It is well-known that the Douglas tensor and the Weyl tensor are projectively invariant. In a Minkowski space, the Douglas tensor and the Weyl tensor vanish identically.

2. Two-dimensional Finsler spaces

Let $F^2 = (M^2, L)$ be a two-dimensional Finsler space with the fundamental function L . Let (l^i, m^i) be a Berwald frame of the space F^2 which satisfies the following equations:

$$l^r l_r = 1, \quad m^r m_r = \varepsilon,$$

where $\varepsilon = \pm 1$. There exists a scalar I which satisfies the equation $LC_{ijk} = Im_i m_j m_k$. We call the scalar I a main scalar of the space.

For a scalar field S we adopt the notions

$$\begin{aligned} S_{;1} &= S_{;i} l^i, & S_{;2} &= \varepsilon S_{;i} m^i \\ S_{.1} &= LS_{||i} l^i, & S_{.2} &= \varepsilon LS_{||i} m^i. \end{aligned}$$

It is noted that $S_{.i}$ vanishes for a $(0)p$ -homogeneous scalar S .

The h -curvature tensor $R^h{}_{ijk}$ of CT is written ([5]) as follows:

$$(2.1) \quad R^h{}_{ijk} = R(l_i m^h - l^h m_i)(l_j m_k - l_k m_j),$$

where the scalar R is called the h -scalar curvature. The $(v)h$ -torsion tensor $R_i^h{}_j(=R_0^h{}_{jk})$ of CT coincides with that of $B\Gamma$, so that by (2.1) we get ([5])

$$(2.2) \quad R_j^h{}_k = LRm^h(l_jm_k - l_km_j).$$

We have ([3])

$$(2.3) \quad LG_i{}^r{}_{jk} = (-2I_{;1}l^r + I_2m^r)m_im_jm_k,$$

where $I_2 = I_{;2} + I_{;1.2}$. By (2.3) we obtain

$$(2.4) \quad LG_{ij} = \varepsilon I_2 m_i m_j.$$

Applying the v -derivative $\parallel k$ with respect to the Berwald connection $B\Gamma$ to both sides of (2.4), we get

$$(2.5) \quad \begin{aligned} L^2 G_{ij\parallel k} &= \varepsilon(2\varepsilon II_2 + I_{2.2})m_im_jm_k - \\ &\quad - \varepsilon I_2(l_im_jm_k + m_il_jm_k + m_im_jl_k). \end{aligned}$$

Substituting (2.3), (2.4) and (2.5) in (1.3), we get ([3], [5])

$$(2.6) \quad 3LD_i^h{}_{jk} = -[6I_{;1} + (2II_2 + \varepsilon I_{2.2})]l^h m_im_jm_k.$$

Next we consider the curvature tensor $H_i^h{}_{jk}$. Since $H_i^h{}_{jk} = R_j^h{}_{k\parallel i}$, using (2.2) we get ([5])

$$H_{ij}^h = \{R(l_im^h - m_il^h) + R_{.2}m_im^h\}(l_jm_k - l_km_j).$$

Thus we get

$$H_{ij} = \varepsilon R(l_il_j + \varepsilon m_im_j) + \varepsilon R_{.2}m_il_j.$$

Since $H_i = 2H_{0i} + H_{i0}$, we get

$$H_i = \varepsilon L(3Rl_i + R_{.2}m_i).$$

In virtue of the equation mentioned above, we get

$$\begin{aligned} H_{i;j} &= \varepsilon L(3R_{;1}l_il_j + 3R_{;2}l_im_j \\ &\quad + R_{.2;1}m_il_j + R_{.2;2}m_im_j - \varepsilon R_{.2}I_{;1}m_im_j). \end{aligned}$$

Since $K_{ij} = H_{i;j} - H_{j;i}$, we get

$$(2.7) \quad K_{ij} = \varepsilon L(3R_{;2} - R_{.2;1})(l_im_j - m_il_j).$$

Applying the h -derivation $|_r$ with respect to the Cartan connection CT to the equation $LC_{ijk} = Im_im_jm_k$, we get

$$(2.8) \quad LC_{ijk|_r} = (I_{;1}l_r + I_{;2}m_r)m_im_jm_k.$$

Transvecting y^r to (2.8), we get

$$(2.9) \quad C_{ijk|0} = I_{;1}m_im_jm_k.$$

3. The relation between Berwald spaces and their three generalizations, and weakly-Berwald spaces with some conditions

A Berwald space is a space which satisfies the condition $G_i{}^h{}_{jk} = 0$, that is to say, whose coefficients $G_i{}^h{}_{jk}$ of the Berwald connection are functions of the position (x^i) alone. Therefore the equations $y_r G_i{}^r{}_{jk} = 0$ hold. $2G^i{}_r = G_r{}^i{}_s y^r y^s$ are homogeneous polynomials in (y^i) of degree three. Then we can consider the notions of Landsberg spaces and Douglas spaces as two generalizations of Berwald spaces.

The notion of weakly-Berwald spaces is the third generalization of Berwald spaces.

Definition. If a Finsler space satisfies the condition $G_{ij} = 0$, we call it a weakly-Berwald space.

In this section, we shall investigate the relation between Berwald spaces and their three generalizations, and weakly-Berwald spaces with some conditions.

By equation (2.8), it follows that any two-dimensional Finsler space F^2 is a Berwald space, if and only if the equations $I_{;1} = I_{;2} = 0$ hold. In virtue of equations (2.9), (2.6) and (2.4), it follows that two-dimensional Landsberg spaces, two-dimensional Douglas spaces and weakly-Berwald spaces are characterized by

$$I_{;1} = 0, \quad 6I_{;1} + 2II_2 + \varepsilon I_{2,2} = 0 \quad \text{and} \quad I_2 = 0$$

respectively.

(1) Weakly-Berwald and Douglas spaces. In [7], M. FUKUI and T. YAMADA proved that

Berwald spaces are characterized by $G_{ij} = 0$ in Finsler spaces with vanishing Douglas tensors.

In other words, we can say that

A Finsler space F^n ($n \geq 2$) is a weakly-Berwald and Douglas space, if and only if the space is a Berwald space.

(2) Weakly-Berwald and Landsberg spaces. Suppose that a Finsler space is a weakly-Berwald and Landsberg space.

If the dimension of the space is two, then from (3.1) we get

$$(3.2) \quad I_2 = 0 \quad \text{and} \quad I_{;1} = 0.$$

Substituting the second equation in (3.2) into the first one, we get $I_{;2} = 0$. It follows that the space F^2 is a Berwald space. Conversely, suppose that a two-dimensional Finsler space F^2 is a Berwald space. From $I_{;1} = I_{;2} = 0$, we get $I_2 = 0$. Therefore we obtain

Theorem 1. *A two-dimensional Finsler space F^2 is a weakly-Berwald space and a Landsberg space, if and only if the space is a Berwald space.*

For a Finsler space F^n ($n \geq 3$), from the conditions $G_{ij} = 0$ and $y_r G_i{}^r{}_{jk} = 0$, we could not get the equation $G_i{}^r{}_{jk} = 0$. Namely, a Finsler space F^n which is a weakly-Berwald and Landsberg space may not be a Berwald space.

(3) Douglas and Landsberg spaces. Berwald proved ([5]) that

[B1] *A two-dimensional Finsler space F^2 is a Douglas and Landsberg space, if and only if the space is a Berwald space.*

The first author and M. MATSUMOTO proved ([1], [2])

If a Finsler space F^n ($n \geq 2$) is a Landsberg and Douglas space, then it is a Berwald space. Conversely a Berwald space is a Landsberg and Douglas space.

(4) Weakly-Berwald and projectively flat spaces. We consider a Finsler space which is a weakly-Berwald and projectively flat space. Berwald proved ([6]) that

[B2] *An n -dimensional Finsler space F^n is projectively flat, if and only if*

$$n \geq 3: \quad D_i{}^h{}_{jk} = 0 \quad \text{and} \quad W^h{}_{jk} = 0,$$

$$n = 2: \quad D_i{}^h{}_{jk} = 0 \quad \text{and} \quad K_{jk} = 0,$$

where $K_{ij} = H_{i;j} - H_{j;i}$.

If a Finsler space F^n ($n \geq 3$) is weakly-Berwald and projectively flat, we get

$$G_{ij} = 0, \quad D_i{}^h{}_{jk} = 0 \quad \text{and} \quad W^h{}_{jk} = 0.$$

From SZABÓ's theorem ([13]):

A Finsler space is of scalar curvature if and only if the Weyl torsion tensor W^h_{ij} vanishes identically.

From this and the result of the case (1), it follows that if a Finsler space F^n ($n \geq 3$) is weakly-Berwald and projectively flat, then the space is a Berwald space of scalar curvature. Therefore, from S. NUMATA's theorem ([8]):

If a Finsler space F^n ($n \geq 3$) is a Berwald space and of scalar curvature K , then it is a Riemannian space or a locally Minkowski space, according as $K \neq 0$ or $K = 0$, we get the following

Theorem 2. *A weakly-Berwald and projectively flat Finsler space F^n ($n \geq 3$) is a Riemannian space of non-zero constant curvature or a Minkowski space.*

If the dimension of the weakly-Berwald and projectively flat Finsler space is two, from Berwald's Theorem [B2] mentioned above and the formula (2.3), we get $D_i^h{}_{jk} = 0$ and $3R_{;2} - R_{;2;1} = 0$. In the case (3), from Berwald's Theorem [B1] it follows that the space is a Berwald space and the equation $3R_{;2} - R_{;2;1} = 0$ holds. From the Ricci formula, we get

$$(3.3) \quad S_{;1;2} - S_{;2;1} = -RS_\theta,$$

where $S_\theta = \partial S / \partial \theta$ and θ is the angle of Landsberg which satisfies the partial differential equation $L\theta|_i = m_i$ where the symbol $(|)$ stands for the v -covariant derivation with respect to the Cartan connection.

Putting $S = I$ in (3.3), we get

$$I_{;1;2} - I_{;2;1} = -RI_\theta.$$

Since the space is a Berwald space, we have $I_{;1} = I_{;2} = 0$ and get

$$RI_\theta = 0.$$

From this equation we get $R = 0$ or $I_\theta = 0$. If $R = 0$, it follows that the space is a Minkowski space. If $I_\theta = 0$, we get $I_{;2} = I_\theta = 0$. The main scalar of the space is constant. Therefore, we get

Theorem 3. *A weakly-Berwald and projectively flat Finsler space F^2 is a Minkowski space or a space whose main scalar is constant and the scalar curvature R satisfies the equation*

$$3R_{;2} - R_{;2;1} = 0.$$

(5) Weakly-Berwald spaces of scalar curvature. We consider a space which is weakly-Berwald and of scalar curvature.

We know that the equation

$$(3.4) \quad (H_{kj} - H_{jk})_{||l} = G_{lj;k} - G_{lk;j},$$

generally holds ([14]).

A Finsler space F^n ($n \geq 3$) is of scalar curvature K ([5]) if and only if there exists a scalar field K satisfying

$$R_{i0k} = L^2 K h_{ik}.$$

Differentiating the above equation by y^i , we get

$$R_j^h{}_k = K_j h^h{}_k - K_h h^h{}_j,$$

where

$$K_j = L(LK_{||j}/3 + Kl_j).$$

Contracting h and k , we get

$$R_j^s{}_s = (n-1)L(LK_{||j}/3 + Kl_j) - L(LK_{||j}/3 + Kl_j) + LKl_j.$$

From the definition of H_{ij} and (1.2), we get

$$\begin{aligned} H_{ij} &= (2n-4)Ll_i K_{||j}/3 + (n-1)Ll_j K_{||i} \\ &\quad + (n-1)Kl_i l_j + (n-2)L^2 K_{||j||i}/3 + (n-1)Kh_{ij}. \end{aligned}$$

Therefore we get

$$(3.5) \quad H_{ij} - H_{ji} = (n+1)L(l_j K_{||i} - l_i K_{||j})/3.$$

Now, supposing that a space is of constant curvature, by equation (3.5) we get $H_{ki} - H_{ik} = 0$ and from (3.4) the equations $G_{lj;k} - G_{lk;j} = 0$, that is to say, the tensor $G_{lj;k}$ is completely symmetric in i, j, k .

Conversely, suppose that the tensor $G_{lj;k}$ is completely symmetric in the indices i, j, k . Then from (3.4) we get

$$(3.6) \quad (H_{kj} - H_{jk})_{||l} = 0.$$

From the equations (3.5) and (3.6) we get

$$(3.7) \quad g_{kl}K_{||j} - LK_{||k||l}l_j = g_{jl}K_{||k} - LK_{||j||l}l_k.$$

Transvecting the equation (3.7) by y^j , we obtain

$$(3.8) \quad -LK_{||k||l} = lK_{||k} + K_{||l}l_k$$

using $K_{||j}y^j = 0$. Substituting the equation (3.8) in the equation (3.7), we get

$$(3.9) \quad g_{kl}K_{||j} + l_l l_j K_{||k} + l_j l_k K_{||l} = g_{jl}K_{||k} + l_j l_k K_{||l} + l_l l_k K_{||j}.$$

Transvecting the equation (3.9) by g^{kl} , we get

$$nK_{||j} = \delta^k_j K_{||k} + K_{||j}.$$

Therefore we get

$$(n - 2)K_{||j} = 0.$$

It follows that if the dimension n is more than two, then equation $K_{||j} = 0$ holds, that is to say, the scalar curvature is a function of the position (x^i) alone. Furthermore, we know (Proposition 26.1 in [9]) that if a Finsler space F^n ($n \geq 3$) is of scalar curvature which is a function of the position alone, then the space is of constant curvature.

Thus we get

Theorem 4. *A Finsler space F^n ($n \geq 3$) of scalar curvature is of constant curvature if and only if the tensor $G_{ij;k}$ is completely symmetric in the indices i, j, k .*

In particular, in a weakly-Berwald space of scalar curvature the equation $G_{lj} = 0$ holds. Therefore we get

Corollary. *A weakly-Berwald space F^n ($n \geq 3$) of scalar curvature is of constant curvature.*

4. Examples of the weakly-Berwald spaces

Suppose that a Finsler space (M, L) is a space with (α, β) -metric. In this section, the symbol $(/)$ stands for h -covariant derivation with respect to the Riemannian connection in the space (M, α) and γ_j^i stand for the Christoffel symbols in the space (M, α) . From [1] it is known that the G^i of the space is given by

$$(4.1) \quad \begin{cases} 2G^i = \gamma_0^i{}_0 + 2B^i \\ B^i = (E/\alpha)y^i + (\alpha L_\beta/L_\alpha)s^i{}_0 - \\ \quad - (\alpha L_{\alpha\alpha}/L_\alpha)C^*\{(y^i/\alpha) - (\alpha/\beta)b^i\}, \end{cases}$$

where

$$(4.2) \quad \begin{cases} E = (\beta L_\beta/L)C^* \\ C^* = \{\alpha\beta(r_{00}L_\alpha - 2\alpha s_0L_\beta)\}/\{2(\beta^2L_\alpha + \alpha\gamma^2L_{\alpha\alpha})\} \\ \gamma^2 = b^2\alpha^2 - \beta^2 \\ r_{ij} = (b_{i/j} + b_{j/i})/2, \quad s_{ij} = (b_{i/j} - b_{j/i})/2, \quad s_i = s_{ri}b^r. \end{cases}$$

First we suppose that $L = \alpha + \beta$, then we get

$$L_\alpha = 1, \quad L_{\alpha,\alpha} = 0 \quad \text{and} \quad L_\beta = 1.$$

Substituting the above formula in (4.2), we get

$$C^* = \alpha(r_{00} - 2\alpha s_0)/2\beta \quad \text{and} \quad E = \alpha(r_{00} - 2\alpha s_0)/2(\alpha + \beta).$$

Substituting the above equation in (4.1), we get

$$B^i = \{(r_{00} - 2\alpha s_0)/2(\alpha + \beta)\}y^i + 2\alpha s^i{}_0$$

and

$$(4.3) \quad 2G^i = \gamma_0^i{}_0 + \{(r_{00} - 2\alpha s_0)/(\alpha + \beta)\}y^i + 2\alpha s^i{}_0B^i.$$

Differentiating the equation (4.3) by y^i , we get

$$(4.4) \quad \begin{aligned} 2G^i{}_j = 2\gamma_0^i{}_0 + \partial_j\{(r_{00} - 2\alpha s_0)/(\alpha + \beta)\}y^i \\ + \{(r_{00} - 2\alpha s_0)/2(\alpha + \beta)\}\delta^i{}_j + (2y_j/\alpha)s^i{}_0 + 2\alpha_j^i. \end{aligned}$$

Contracting i and j in (4.4), we obtain

$$(4.5) \quad 2G^r_r = \gamma_0^r r_r + (n+1)\{(r_{00} - 2\alpha s_0)/(\alpha + \beta)\}$$

using $S_{00} = 0$ and $s_{ij}a^{ij} = 0$.

From (4.5) it follows that the necessary and sufficient condition for the space (M, L) to be a weakly-Berwald space is that the term $(r_{00} - 2\alpha s_0)/(\alpha + \beta)$ is a homogeneous polynomial in y^i of degree one. Putting $A = (r_{00} - 2\alpha s_0)/(\alpha + \beta)$, we get

$$\alpha(A + 2s_0) + (\beta A - r_{00}) = 0.$$

Since $A + 2s_0$ and $\beta A - r_{00}$ are homogeneous polynomials in y^i of degree one and of degree two respectively, and α is irrational in y^i , we get

$$A + 2s_0 = \beta A - r_{00} = 0.$$

By the equations mentioned above, we get

$$(4.6) \quad r_{00} + 2\beta s_0 = 0,$$

that is to say,

$$(b_{i/j} + b_{j/i}) + b_i(b_{r/j} - b_{j/r})b^r + b_j(b_{r/i} - b_{i/r})b^r = 0.$$

Therefore we get

Theorem 5. *The necessary and sufficient condition for a Randers space $(M, \alpha + \beta)$ to be a weakly-Berwald space is that the vector b_i satisfies the equation (4.6).*

Secondly, we suppose that $L = \alpha^2/\beta$, then we get

$$L_\alpha = 2\alpha/\beta, \quad L_{\alpha,\alpha} = 2/\beta \quad \text{and} \quad L_\beta = -\alpha^2/\beta^2.$$

Substituting the above formulas in (4.2), we get

$$C^* = (\beta r_{00} - \alpha^2 s_0)/2\alpha b^2 \quad \text{and} \quad E = -(\beta r_{00} - \alpha^2 s_0)/2\alpha b^2.$$

Therefore we obtain

$$B^i = -\{(\beta r_{00} - \alpha^2 s_0)/\alpha^2 b^2\}y^i - (\alpha^2/2\beta)s_0^i \\ + \{(\beta r_{00} - \alpha^2 s_0)/\alpha b^2\}b^i$$

and

$$(4.7) \quad 2G^i = \gamma_0^i{}_0 - \{2(\beta r_{00} - \alpha^2 s_0)/\alpha^2 b^2\}y^i - (\alpha^2/\beta)s_0^i \\ + \{(\beta r_{00} - \alpha^2 s_0)/\alpha b^2\}b^i.$$

Differentiating the equation (4.7) by y^i , we get

$$(4.8) \quad 2G^i{}_j = 2\gamma_0^i{}_j - \partial_j\{2(\beta r_{00} - \alpha^2 s_0)/\alpha^2 b^2\}y^i \\ - \{2(\beta r_{00} - \alpha^2 s_0)/\alpha^2 b^2\}\delta^i{}_j - \\ - \{(2y_j\beta - \alpha^2 b_j)/\beta^2\}s^i{}_0 + (\alpha^2/\beta)s^i{}_j + \\ + \{(b_j r_{00} + 2\beta r_{0j} + 2y_j s_0 + \alpha^2 s_j)/\beta b^2\}b^i.$$

Contracting i and j in (4.8), we get

$$2G^r{}_r = 2\gamma_0^r{}_r - 2(n+1)(\beta r_{00} - \alpha^2 b^2) - 2\{ns_0 - r_{0s}b^s\}/b^2,$$

using $S_{00} = 0$, $s_r b^r$ and $s_{ij}a^{ij} = 0$.

Since the term $ns_0 - r_{0s}b^s$ is a homogeneous polynomial in (y^i) of degree one, it follows that the necessary and sufficient condition for a Kropina space $(M, \alpha^2/\beta)$ to be a weakly-Berwald space is that the term $\beta r_{00}/\alpha^2$ is a homogeneous polynomial in (y^i) of degree one, that is to say,

$$(4.9) \quad (b_i r_{j0} + b_j r_{i0} + \beta r_{ij})\alpha^6 - (b_i r_{00} + 2\beta r_{i0})a_{j0}\alpha^4 \\ - (b_j r_{00} + 2\beta r_{j0})a_{i0}\alpha^4 - \beta r_{00}a_{j0}\alpha^4 + 2\beta\alpha^2 r_{00}a_{i0}a_{j0} = 0.$$

Thus we get

Theorem 6. *The necessary and sufficient condition for a Kropina space $(M, \alpha^2/\beta)$ to be a weakly-Berwald space is that the vector b_i and the tensor a_{ij} satisfy the equation (4.9).*

Acknowledgements. The authors would like to express their sincere gratitude to Professor Dr. MAKOTO MATSUMOTO and Professor Dr. KATSUMI OKUBO for their invaluable suggestions and encouragement.

References

- [1] S. BÁCSÓ, F. ILOSVAY and B. KIS, Landsberg space with common geodesics, *Publ. Math. Debrecen* **42** (1993), 139–144.
- [2] S. BÁCSÓ and M. MATSUMOTO, Reduction theorems of certain Landsberg spaces to Berwald spaces, *Publ. Math. Debrecen* **48** (1997), 357–366.
- [3] S. BÁCSÓ and M. MATSUMOTO, On Finsler spaces of Douglas type. A generalization of the notion of Berwald space, *Publ. Math. Debrecen*, **51** (1997), 385–406.
- [4] S. BÁCSÓ and B. SZILÁGYI, On a weakly-Berwald space of Kropina type, *Mathematica Pannonica* **13** (2002), 91–95.
- [5] L. BERWALD, On Cartan and Finsler geometries, III, Two-dimensional Finsler spaces with rectilinear extremal, *Ann. of Math.* **42** (1941), 84–112.
- [6] L. BERWALD, Über Finslersche und Cartansche Geometrie, IV. Projektivkrümmung allgemeiner Räume in Finslersche Räume skalarer Krümmung, *Ann. of Math.* **48** (1947), 755–781.
- [7] M. MATSUMOTO, On projective mapping in Finsler geometry, *Tensor, N. S.* **35** (1981), 216–221.
- [8] M. MATSUMOTO, Projective change on Finsler metrics and projectively flat Finsler spaces, *Tensor N. S.* **34** (1980), 303–315.
- [9] M. MATSUMOTO, Foundation of Finsler geometry and special Finsler spaces, *Kaiseisha Press, Otsu, Saikawa*, 1986.
- [10] M. MATSUMOTO, Theory of Finsler spaces with (α, β) -metric, *Rep. Math. Phys.* **31** (1992), 43–83.
- [11] S. NUMATA, On Landsberg spaces of scalar curvature, *J. Korean Math. Soc.* **12** (1975), 97–100.
- [12] Z. SHEN, Differential Geometry of Spray and Finsler spaces, *Kluwer Academic Publishers*, 2001.
- [13] Z. I. SZABÓ, Ein Finslerscher Raum ist gerade dann von skalarer Krümmung, wenn seine Weylsche Projektivkrümmung verschwindet, *Acta Sci. Math. Szeged* **39** (1977), 163–168.
- [14] T. YAMADA, On projective changes in Finsler spaces, *Tensor, N. S.* **52** (1993), 189–198.

S. BÁCSÓ
 INSTITUTE OF MATHEMATICS AND INFORMATICS
 UNIVERSITY OF DEBRECEN
 H-4010 DEBRECEN, P.O. BOX 12
 HUNGARY

E-mail: bacsos@math.klte.hu

R. YOSHIKAWA
 HINO HIGH SCHOOL
 150 KOUZUKEDA HINO-CHO
 GAMOU-GUN SHIGA, 529-1642
 JAPAN

E-mail: ryozo@mx.biwa.ne.jp

(Received February 5, 2002; revised March 21, 2002)